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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) udteneff wEyem AU U9 U W AMIE fHara: o)

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) wt U wA e g
All the questions are compul sory.
3) URH U HT IW & TE IW-YiEasht | & o]
Write the answer to each question in the given answer-book only.
4) 5 gt ° srafter @ue E, 37wt & SR U A § o)
For questions having more than one part, the answers to those parts are to be %’
27

written together in continuity.
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5) U9 U o < 9 3t wuraron | foRet weRr < 3 / e / femenama g R = e
*F T R & wE T

If thereisany error / difference/ contradictioninthe Hindi & English versions
of the question paper, the question of Hindi version should be treated valid.

6) T SW foTEA ¥ gd I 1 HHTh A |

Write down the serial number of the question before attempting it.
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“us - A

SECTION - A

Frafeiaa uvai & S & wEl fashew w=m o STyfere | fafan)

Answer the following questions by selecting the correct option in answer book.

1) i) e s WA S [1]
&) et &) wifafEen
W) = S ) S
Asexual reproductivestructures in Hydra are -
A) Bud B) Conidia
C) Zoospores D) Gemmules
i) i TR A IS AR 2 [1]
H) AR 7) fafRfem
)  FAmtsEa 7) S
Not an example of sexually transmitted diseaseis-
A) Gonorrhea B) Syphilis
C) Chlamydiasis D) Cancer
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i) W?Fﬁﬁfbﬁﬁquﬁéﬁm%’l
&) UUU a) AUG
") ACG 3) AAA
The genetic code that codes for Methionineis -
A) UUU B) AUG
C) ACG D) AAA
V) TRy 31T 1 ITEHOT §
)  uzHd ) TEd
|) e q) EEE
Example of lymphoid erganis-
A) Thymus B) Liver
C) Pancreas D) Stomach
V) Heusia Rree suam Sa 3t & wu | e s 2

d)  CrEwEdl q) OHiferEm Aeen

")  OEAEEIRE 3) AREREE

Microbethat isused as biofertilizer.

A) Trichoderma B) Penicillium notatum
C) Cyanobacteria D) Lactobacillus
SS-42-Biology
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Vi) USTEH Wi 10T i WSt U e i A w2

) EiA A E)V IR IGEPER S |
W) A v 3) TS geE
Anenzymethat cut DNA into fragments-
A) DNA Ligase B) Restrictionenzyme
C) DNA Polymerase D) Proteases enzyme
Vi) A T WA A ShTE Wereht Bach Sl A YT 27
A) |-Ac d) | -Acwll -Ab
|q) Il -Ac ) |-Ab
Which protein gene 'cry’ controls the corn-borer.
A) |-Ac B)- I'-Ac&tl-Ab
C) Il-Ac D) [ -Ab
Viil) TR (sa-fig) Safafum dtem st e E)
A) Tl AN &) g sE
H) I 3T 3) 99 g TEH UTh
Example of In-situ conservation of biodiversity is-
A) Wildlifesanctuaries B) Zoological park
C) Botanica garden D) Wildlifesafari park
iX) IEReE | w1 YE e 2|
) AEESH q) e AHIAETES
9) WM g)  atiee
Main example of greenhouse gasis-
A) Nitrogen B) Carbon monoxide
C) Methane D) Oxygen
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2) fiam Tt A gfd fifk
Fill intheblanks:

) AYT .....cc..... (7foTaT) gret & Rt e SHIHIH gid 2| [YVtYo=1]
Male honey bee are (Ploidy) having chromosomes.

i) weyEE % foru SuEm @ @ A aren 3gfe AHeRl @ IRl Sl ORER SHE e
(31) & Femten =T e [1]

Insulin used for diabetes was extracted from the (organ) of
slaughtered pigsand animals.

jii)  Stoumn % S R A a2l [1]
The rate of biomass production is caled :
iv) @ 2002 © gferur STRrRT & Lo # wd e W fogaer sem geml [1]

The world Summit on Sustainable Devel opment held in 2002 in
South Africa.

3) = uvAl % ST Uk IIsq 31U U Ul | AT

Givethe answer of the following questionsin aword or aline.

) = Frirem @ ofenfia B [1]
Defineexterna fertilisation.

i)  ZIFT = gu am feiian) [1]
Write full name of ZIFT.

jii) Sfiersa RRyy oot Sisiigurey st dFiersa gem| [1]
The phenotype of RRyy genotype seeded plant will be -

V) ORSiel wig W e e [1]
What is Transgenic animal ?

V) S Rt @ e fiRem) [1]

Write function of Adenosine deaminase.
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Vi) gfeerEraTse & e & AW fafau) [Va+Yo=1]
Write name of components of nucleoside.

Vi) g wggi | urlt 9 arelt Hie ¥ U 9 aren U g fafau) [1]
Write one adaptation of sealsfound in polar sess.

Viil) IR 1 Uk SRUT THEEy| [1]

Explain one reason of deforestation.

Qus -9
SECTION - B

I T (SW g €wr 50 v1ee)
Short answer type questions (Answer word limit:50 words) :
4) it 9 9 % di9 WA o A 9w e [VotYato=1Y]

Write name and function of three parts of female reproductive system.

5)  3TURT gRI It o it et A forRau| [Vot+Yatlo=1Y]

Write three hormones secreted by placenta.

6) ‘orqul SwiferT i 3SRV g FHSAST| [1Y4]

Explain 'Incomplete dominance' with example.

7) R figm i e wia augmsu [1v4]

Explain Turner's syndrome with symptoms.
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8) frustum uma i fanmtt eman @ Sierdictt & <t weron faRa) [Va+1=1V]

Write brain capacity and two characters of life style of Neanderthal man.

9) oEel fafeor @i SerEvUT gRt TwEET [1¥]
Explain 'Adaptiveradiation’ with example.

10) 37a: IS i URHINA hHITTC| AR ST TRl ¥ Iea— fehell Ush Ug] o a1 foTRau)
[1+Y5=1Y4]

Define inbreeding. Write name of any one animal developed from interspecific
hybridisation.

11) @t - A B THA A TR 9T~ B ¥ saw Selftra I i frd 3 [VaotYatlo=1Y]

o = grfera fif
I - A i - B
A) e R CLESCLC
B) et i) uEn S
C) fud iii) o g

Part - A contains the name of crop and Part - B contains their related disease
resistance variety.

Match thefollowing :

PART - A PART - B
A) Cowpea 1)  Pusa Sadabahar
B) Cauliflower i) PusaKomal
C) Chilli i) Pusa Shubhra
SS-42-Biology
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12) shaw e & Tm | URig geusha o1 T flan) sae v s fefen) [1+Y5=1V4]

Write the name of the microorganism commonly called brewer's yeast. Write one
use of it.

13) sitenEt o qu Am fafau| =2t s i Aioidt 3 guun emaT H F Ty 27 [1+Y=1%]

Write full name of BOD. What is the relation of polluting potential and BOD of
waste water.

14) <z faciigs gist afitere i amifha s s [1¥]
Draw alabelled diagram of sparged stirred-tank bioreactor.

15) e Terger <t foeht e fergtaen st TmEenl [1¥4]

Explain any one feature of eloning vector.

Lue - 9
SECTION - C
eI 99 (S wisg Fir 100 vise) ¢

L ong answer type questions (Answer word limit 100 words) :

16) eriierar o TSR 1 A fIRau) I & St A0 9 HhAUT & < @a ffaw)  [1+1+1=3]

Write the name of the pathogen of amoebiasis. Write two symptoms and two
source of infection.
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17) agandt e ford shga 8 ¢ Siferek argferen & adiehl o1 s o smmsn) [1+2=3]

What are the stenothermal organism? Draw a diagrammatic representation of
organismic response.

18) urfifeufaes STIsRAUT At uReTiNG hIfTE| TRt STIsRAUT 9 YShaRell IIshHUT hi THETST|
[1+2=3]

Define ecol ogical succession. Explain Hydrarch succession and X erarch succession
inbrief.

©us - g
SECTION-'D

Ferencaes uea (SW viee |imn. 100 v1s3) :

Essay type questions (Answer word limit 100 words) :

19) i) wRETUT S URWINE i)
i) g Feem @ wwEEu)
i) Frofa yor S i wre @ TEitRa o aATEU)
1)  Definepollination.
i)  Explaindoublefertilisation.
i) Draw alabelled diagram of structure of fertilised embryo sac.
[1+1Y+1Y5=4]

gar/OR
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) e wr w ufenfya A

i) fregfir, Tegfie, TRy S W ot sEE e

jii)  TieRER o e 1 W IR Sl dig iGN ATl ATHT(eha s SH1SU)

i)  Define Xenogamy pollination.

i)  Write one example of each non-albuminous, abuminous, perispermic seed.

i) Draw alabelled diagram of L.S. of pistil showing path of pollen tube growth.
[1+1%2+1Y5=4]

20) i)  EIHIROT (ZTEIH) AR i)
i)  TUFTEROT (TEEYH) SR sl JHesT|
i) TATTROT (ZFEATH) 1 TR o= FA1E0
1)  Definetrangation.
i)  Explain processof tranglation.
i) Draw alabelled diagram of trang ation.
[1+1Ya+1Y2=4]
et/ OR
) fag scaftera & ufom @& 2R aret W @ AW fRan)
i) S U "W
jii) cieR ORI = AifeRa ot sATEL)
I)  Namethe disease that results from point mutation.
i)  Explain the Lac operon.
i) Draw alabelled diagram of the Lac operon.
[1+1Y%+1Y5=4]
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